Zait-AORERE
T AT

e A7 i o
oy s | 7T BRI A B ) B AR, LR
g | TR 07 B RN B K, ST SRR

AF T RS, JURARBUEART T, 3l A 1o i R SR B A

L BT X A7 bR P SEBRAS AL S R Al 247 i 58 A
=y e | i#}??’%&)‘tﬁﬁj‘ 2% SR PR A 1m€“57??ﬁ“”
B % FHH, STl AR —— AR R ﬂH‘o
- o R AV HTE R BRI RB E RA, i “ 1E
WA SR, B AR BHE .

3. A AL AV O AR

1. B U EE TR

[ 3-671 W AW “RISMAEILER” d#k, HEHOIRBANFE Y 7 1000 &, SEhrsir
5000 7G, 11 5000000 JG; 7 770 2000 &, SERREAAL A 1000 T, it 2000000 G
Eﬁé&ﬁ?&”%ﬁ%dﬁﬂ? TR

f&: FEAFR S —Y =5 5 000 000
——7 7 2 000 000
DR AR AR —— R AR PR A ——Y 5 000 000
—— AR A ——L P 2 000 000
2. KT

[ 3-681 AR HRICEM R RS T, A CEMEER Y F=RE 500 &, Z 7mE
1 500 G. ZH Y P2 sLPREALA 5 000 JG, Z P25 SEPR AL A 1 000 JG. TE45 5 HAH
BERARRS, BA ] S gailan &k ok

. FEN S A 4 000 000
UE: BEATR S —Y PR 2 500 000
—7 7 1 500 000
[ S R Az
WARES WH

B R=AHETA /A< 100%

AR B=1 S A BN - IR [ 54Tk

AT B B =AY B 3 X B A R

AT B A =0 B 1 - B = R (1 B
AHIIARATE BRA=IIAE B A+ AN B A A8 5 A

P R RS ZE A 2= AT R A7 T o R 22 A+ AR SO N T i R R 2200
/ GBI A+ A AR S )

(2 B | AR 5 7 o 20 PR T ot B 2 0 =S T s o A B RN X b g 2=
r & | F

(RS A UV 65 T ot ) AR = A S o B B SO\ — A ST L T i S R ) 7 o
HZEM=AIAR A BB X (- St Z M5

FHAR A 7 vt 1) J AR = T A7 7 i 100 2R A7 BSOS + A U g 5 ot FR) 3 ok

(—) &
GIESTS

B k2 m



F ot MEBIE S
ARSI B 7R A R AR

[ %] 3-69) Y537 FH BRI ZESTZE, 2020 4F 4 H 1 HEFR M EEAH 18 000 000
JG, A HIEEE 30 000 000 76, A& AN 34 000 000 7, EZEZEEMHEBEFFEAN 25%.
A OB R o R BE AR o B RSOAS TSR R

BEF =34 000 000 X25% =8 500 000 (JG)

A A RA=34 000 000 -8 500 000 =25 500 000 (JT)

H AR PEAER S AR=18 000 000 +30 000 000 —25 500 000 =22 500 000 (JT)

[ 3-700 IR NI ER — BB, FEAER RSN S EIEITIZE . 2020 4F
7 A W) PEAT R S A B A 1000 000 T, BT EAA 1 100 000 JG, A H WAREZRE
B A A 750 000 7T, B HY 900 000 76, A HESERAN 1 200 000 6. e
AL

AN RN PE, BN SN, il T 2155

i PEAFR 900 000
NEAZHR B —— R A R E AL GHEITRLAD 97500
B RATEK 847500
P i B ZE A 150000
BAAA H M A IO, Zmitil i R 1ok
i HRATIER 1356 000
B FESIRN 1200 000

NAZ R B —— N BEE AL (B TURLAD 156 000
I, FEEM SRR A, EEE G IR M E T, Tl T2tk
e FES A 1200 000
B¥: PEATRE 1200 000

(3) AR, THEER o PERT b 240

A SR 2 = (100 000+ 150 000) < (1 100 000 +900 000) X100% =12. 5%
O 7o 20 T R P R RS 22 =1 200 000 X 12. 5% =150 000 (JT)

AR E T S S2 bR AS=1 200 000 —150 000 = 1 050 000 (JT)

IR G517 S 92 bR A=1 000 000 +750 000 -1 050 000 =700 000 (JT)

[f]ie 2] FHSTH, N ES “EFrm” BEZERE ( Do (2020 4E)
A A7 TR T I 0 46 H B TR i

B. CL58 AN & FSHEIW /5 75 H A v AR ST =

C. R HE R W Y P

D. Bz Rk T i AR

[% %1 ACD

L e VA7 i it EL AR LA PEAE 77 Bt « AR it s A7 BCEE 1) T 0 % tH S R s i GBI AD
KRR GEIUC) . ZFAFTEAMNARE & B2k rhn T lis AR GEDL D) Fhsb
BN TR RS S R B, 58 Ml & F SHE W K7 M AR FEEU ™= &, R CE
R, ANET AP

#
N
=
H
N)
=il



